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I. Vocabulary: Choose the most appropriate answer out of the four options.

16. My cell phone doesn’t work. I forgot to the battery.
(A) establish (B) recharge (C) abandon (D) decorate
17. Tens of thousands of baseball fans of the Yankees jammed the to see Chien-ming Wang play.
(A) stadium (B) lobby (C) skyscraper (D) theater
18. The typhoon has caused occasional throughout Taiwan, so the government is currently trying
to restore electricity supply.
(A) explosions (B) landslides (C) reforms (D) blackouts
19. Martha is waiting for her son, who should have been home an hour ago.
(A) anxiously (B) horribly (C) timidly (D) courageously
20. Leave him alone. He just broke up with his girl friend and is in a bad
(A) tempest (B)shape (C) mood (D) addiction
21. While he burned the midnight oil, he drank two cups of tea to keep awake.
(A) heavy (B) thick (C) strong (D) dense
22. The purpose of the test is to students’ English level and place them into different groups
according to their abilities.
(A) measure (B) appreciate (C) organize (D) prescribe
23. Stop sprinkling pepper on your soup, or it may get too .
(A) smooth (B) spicy (C) superficial (D) slippery
24. As your working life lasts an average of thirty-five years, it’s important to find a job you like and feel
about.
(A) enthusiastic (B) overwhelmed (C) allergic (D) infectious
25. The young man was in a serious car accident, but he luckily
(A) survived (B) escaped (C) succeeded (D) remained
26. Since there is only limited amount of oil and gas, we had better develop energy as soon as

possible. It won’t be used up.
(A) geographic (B) assist (C) spiritual (D) solar
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27. Experts are worried that escalating may cause prices of food and gas to increase again this
month.

(A) bankruptcy (B) investment (C) violence (D) inflation
28. Janeistiredof  to work by car and is going to try taking public transportation instead.
(A) submitting (B) commuting (C) devoting (D) adapting
29. _ advances of medicine, death rate has significantly gone down these years.
(A) In favor of (B) According to (C) Thanks to (D) In case of
30. Yogurt is one of themost __ foods you can eat. It is good for your teeth, bones and digestion.
(A) luxurious (B) complicated (C) aboriginal (D) nutritious
31. The audience left the building  when they heard the alarm.
(A) permanently (B) consistently (C) immediately (D) voluntarily
32. If it had not rained so hard yesterday, we _ to Tainan.
(A) should have gone (B) should go (©) go (D) went
33. After rethinkingmy I decided to put my studies before my part-time job.
(A) obstacles (B) benefits (C) priorities (D) classifications
34. Yao Ming, an NBA player, was playingso _ that he scored thirty-two by himself in a single
game, hitting fifteen out of eighteen shots.
(A) emotionally (B) aggressively (C) scarcely (D) mysteriously
35. David didn’t finish college. He after his second year.
(A) gave in (B) stopped by (C) dropped out (D) called off
36. Many sports stars _ products such as athletic shoes to make money.
(A) loan (B) substitute (C) purchase (D) endorse
37. Only after I had reached the supermarket ~ that I had forgotten to take my purse with me.
(A) T had ralized (B) did I realize (C) I have realized (D) I realized
38.  burglars because there have been several burglaries in this neighborhood.
(A) Look down on (B) Watch out for (C) Catch up with (D) Keep track of
39.P’mfar . I have so many assignments to do before the exam that ’'m really stressed out.
(A) behind schedule  (B) out of date (C) from a distance (D) ahead of time
40. By the time you get to the garage tonight, the mechanic  repairing your car.
(A) will finish (B) has finished (C) finishes (D) will have finished
41. We will have the class picnic _ the weather is not fair.
(A) except for (B) in spite of (C) even though (D) as long as
42. Mrs. Bennet was always interrupting her husband,  annoyed him very much.
(A) that (B) who (C) and (D) which
43. A: I called you at eight last night, but you weren’t home.
B: I'was! Icouldn’t answer the phone becauseI ~ my hair.
(A) had washed (B) washed (C) was washing (D) have washed
44,  the article and you will have a clearer picture about what’s going on.
(A) Unless youread  (B) If you read (C) Reading (D) Read
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45. A: It’s raining cats and dogs outside. Do you have an umbrella?

B: Iremember a small one with me, but I cannot find it now.
(A) carry (B) carrying (C) to carry (D) being carried

I1. Cloze: Choose the most appropriate answer.

The Strange Case of Dr. Jekyll and Mr. Hyde is a well-known English story by Robert Louis
Stevenson. The story is about a much-loved and brilliant man called Dr. Jekyll. Dr. Jekyll is a very good

man who is aware that there is a bad side to his character. 46 so many other people, he feels that
the bad in him is fighting against the good in him. One day while doing research in his lab, Dr. Jekyll
discovers a special mixture of chemicals which enables him to separate the bad part of his character from
the good. When he drinks this __ 47 | he actually turns into a different person. His whole nature and
appearance change and he becomes the evil Mr. Hyde. When he is Mr. Hyde, he can enjoy doing terrible
things without feeling any __ 48 . Later he changes back to his self and becomes the good and kind Dr.
Jekyll ___49 . He begins to look forward to changing into Mr. Hyde more often and he __ 50 murders
someone. Eventually Dr. Jekyll actually changes into the evil Hyde without needing to take the mixture.
One day he finds that he cannot change back into Jekyll, and he finally kills himself.

46. (A) With (B) Like (C) Despite (D) Besides
47. (A) beverage (B) cocktail (C) wine (D) mixture
48. (A) regret (B) pride ~ (C) delight (D) vitality

49. (A) no more (B) for good (C) once more (D) once for all
50. (A) even (B) ever (C) never (D) still

Many doctors and scientists believe that there are different causes for the different forms of cancer.
Working conditions may 51 cancer. For example, people who work in 52 contact with
chemical compounds like arsenic or asbestos may develop cancer. People who work for long periods of
time with X-rays or radioactive material may get leukemia or cancer of the skin, bone or lungs. Smoking
is 33 cause of cancer. Many experiments have shown that smoking can produce lung cancer as
well as cancer of the mouth, larynx and esophagus. 54 , viruses may cause cancer. Scientific
research has shown that viruses bring about certain kinds of cancer in laboratory animals. Scientists are
now trying to find out ___ 55  true for humans as well. Although we don’t have the answer yet, perhaps
in the near future we will know what causes this disease.

51. (A) result from (B) build up (C) count on (D) lead to
52. (A) negligible (B) close (C) remote (D) foreign
53. (A) other (B) the other (C) another (D) one

54. (A) Finally (B) Consequently (C) Conversely (D) Generally
55. (A) this is (B) if this is (C) is this (D) which is
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